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Mixed word problems

Grade 1 Word Problems Worksheet

There is a flower shop at downtown which is having a
sale on roses. In the display, there are 10 white roses,
8 pink roses and 7 red roses.

1.  What fraction of the roses are pinke

2. How many roses are there in totale

3. Thestem of aroseis 18 cm long. If the florist cuts
6 cm off of the stem, how long is the stem®@

Reading and Math for K-5 © www.k5learning.com



http://www.k5learning.com/

B8 Leari¥ng

4. A white rose is 60 cents and a pink rose is 75
cents. Ared rose is 90 cents. Abby wants to buy a
rose for her mother. She has 3 nickels and 2
quarters. Which rose can she afford to buy?¢

5. When the shop closes, there are 2 white roses left.
How many white roses were sold?

6. The shop opens at 10 in the morning and closes
at 7 in the evening. How many hours does it open
forin a daye
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Answers
1. 2—85 of the roses are pink.

2. 10+8+7=25
There are 25 roses in total.

3. 18-6=12
The stem is 12 cm long.

4, 25+25+5+5+5=65
Abby has 65 cents.
She can afford to buy a white rose.

5. 10-2=8
8 white roses are sold.

6. 9 hours
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